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Question 1

Question Type: MultipleChoice

You are building the Balance Request service that allows customers to request their current account balance. You have developed the
following schema (called "balanceRequest.xsd") to define the elements used in the messages exchanged by the service:

“x=d: schema xmlns: xsd="http:/ wnoe. w3 . org/Z001/XMLE8chema ™
targetNamespace="http: //wme. example. org/customers"=
<xsd: element name="balanceReguest">

“<xad:complexType=
<xad: sequence>
<xad: element name="custID" type="xad:string"fb
{fxad:zsquenc:}
</xsd: complexType>
</x=d: element>
<xsd: element name="balanceResponse">
<x3d:complexType>
“<xad: sequences
<xgd:element name="custID” type="msd:string”/ /=
<xsd:element name="balance” type="xsd:decimal™/ />
</xad: sequence>
<fxad: conplexType=
<fxad: ealemeant>
</xad: schema>

The "balanceRequest" element is to be used as the basis of the request message sent by a customer to the service. The
"balanceResponse” element is to be used as the basis of the response message sent out by the service. Which of the following WSDL
definitions correctly describes this service?



T A <definitions name="BalanceRequest"”
targetNamespace="hetp: //www, exanmple. org/wadl/customers"™
mnlns: tns="http:/ /www. example. org/wadl/customers"
mnlns: cust="http: //www. example. org/oustomers™
mnlna="http://schemas. mmlsoap. org/wadl/ "™
xmlnez: xsd="http://www.w3.0rg/2001/XMLEchema ">
<types*

<x=d: achema targetNamespace="http://www.example. org/wsdl/customers">
<x=d:import namespace="http://wwe. example. org/customers”
achamaLucutinn="hulunceRequust.xad"f}
</xmd;: schema>
</types>
<message name="HalanceRegquestMessage>
<part name="BalanceReguest™ element="cust:balanceReguest'/>
</ messages
“<message name="BalanceResponseMessage">
<part name="BalanceResponze” slement="cust:balanceResponse”/>
</megsage>
<portType name="Balance">
<operation name="BalanceRegquest">
<input message="tns:BalanceRequest"/>
<putput message="tns:EBalanceRe=zponse"/>
</ operation>
</portType>

</definitionss>

B <definitions name="BalanceReguest™
targetNamespace="http: / /v, example. org/wadl/customers™
wulns: tns="http: /Swee, exanple. org/wadl/customers®
sulns: cust="http: / /wwne, example. org/customers™
xmlns="http://achemas=s.xomlscap. org/wadl/"
xmlns: xsd="http: / /vwww. w3 . ocg/2001/ZMLSchema ">
<typea>

<xsd:schema targetNamespace="http:/ /v, exanple, org/wadl/customers">
<xsd:import namespace="http:/ wwne. example. org/customers™
schemaLocation="balanceRequest, xsd"/>
</wad: schema>
</types>
“message name="BalanceRegquestMessage”>
“part name="BalanceRegqueat” element="cust:bhalanceReguest"/ >
“/megsage>
<message name="BalanceResponseMeggage >
<part name="BalanceResponze" element="cust:balanceResponze"/ >
4fmaaaage>
<portType name="Bal ances">
<gperation name="BalanceRegquest">
<input message="cust:balanceReguest™/>
<putput message="custibalanceResponse™/>
</operation>



T C, <definitions name="BalanceRequest"

targetNamespace="http://www. example. org/wasdl/customecrs"™
xmlns: tns="http: / /www. example. org/wadl/customers"
wnlns: cust="http://www. example. org/customera™
sulns="hetp: //achemas, smlsoap. org/wadl/"
smlns: xsd="http: //vnne, wl . org/2001/ XML 3chema ">
<hypea*
<x=d: schema targetNamespace="http:// www. example. org/wadl/customers >
“<usd:import namespace="http:/ wme, example, org/customers”
schemalocation="balanceRegquest, x=d /=
</x=d: schema>
</ types>
<mesgsgsage name="BalanceRegquestMeszsgage™=
<part nams="BalanceRegquest" element="cust:balanceRegquest'"/>
{fmaaaagub
<message name="BalanceaRessponssMessacgs'>
<part name="BalanceResponse” element="cust:balanceReaponse"/>
</message>
<portType name="Balance">
<pperation name="BalanceReguest™=
“<input message="tns:BalanceRegquestMessage”/>
<output message="tns:EBalanceResponseMessage”/>
</ operation=
</portType>

</definitions>

0, Mone of the ahove,

Options:

A- Option A
B- Option B



C- Option C
D- Option D

Answer:

C

Question 2

Question Type: MultipleChoice

You have developed a Library service that provides an "AddBook" operation that is able to add a book record to a library system. This
operation accepts a message based on an "AddBookRequest" element that contains book record details, such as its author and title. It

then responds with a message based on the "AddBookResponse” element that acknowledges that the book was successfully added.
Below is the current WSDL definition:



<definitions name="Library"
targetNamespace="http:/ /vwww,. example.org/wasdl/libracy"
smlns: tna="http: //www. exanple. org/wadl/library"
xmlna="http:ffschumna.xmlsuup‘urgfwsdlf"
xmlns:1ib="http: /S wwe. example. org/librarcy"
smlns: xad="htep: [Suwwne.wd . org/2001 /XML 3chema ™
mmlns: soap="http: //schemas. xanlsocap. org/wedl,/ soap/ ">
<types>
<x3d: schema targetNamespace="http:/ www. example. org™=
“<xad: import namespace="http:/ /www, example. org/ libracy"”
schemalocation="Library.xsd"/ =
<fxsd: schema>
</ types>
<message name="AddBookPeguestMessage">
<part names="RequestParameter"
element="1ib:AddBookRequest"/ >
</message>
<message name="AddBookResponseMessage”>
<part name="ResponseParameter”
element="1lib:AddBookResponse"/>
“</messager
<poetType name="LibraryCirculation">
<pperation name="AddBook ">
“<input message="tns:AddEoockPRegquestMessage”/>
<gutput message="tns:AddBockResponseMessage’ />
<fnperatian}
{fpnrtTypa}

</definitions>

You are asked to extend this WSDL definition in order to add a new "DeleteBook" operation that is able to receive a request message
based on the "DeleteBookRequest" element and reply with a response message based on the "DeleteBookResponse" element. Which
of the following describes the minimum number of message, operation and "portType" elements that will need to be added in order to
fulfill these requirements?



Options:

A- 2 'message’ elements, 2 'operation’ elements, 1 'portType' element
B- 2 'message' elements, 2 'operation’ elements, zero 'portType' elements
C- 1 'message’ elements, 1 'operation’ element, 1 'portType' element

D- 2 'message’ elements, 1 'operation’ element, zero 'portType' elements

Answer:

D

Question 3

Question Type: MultipleChoice

You are in the process of designing a service that manages content in a database of medical images. The service is able to add, update
and delete images in the database. Each of these three functions requires a separate message exchange with the service. Therefore,
the XML schema for this service provides an "addimage" element, an "updateimage" element and a "deleteimage" elements for the
request messages, and separate "addimageResponse,
response messages.

updateimageResponse" and "deletelmageResponse"” elements for the

Which of the following describes the minimum number of WSDL "message”,
that the WSDL definition must have for this service?

operation”, "portType", "binding", and "service" elements



Options:

A- 6 'message’ elements, 3 'operation’ elements, 1 'portType' element, 1 'binding’ element, 1 'service' element
B- 3 'message' elements. 3 'operation’ elements, 1 'portType' element, 1 'binding' element, 1 'service' element
C- 6 'message’ elements, 6 'operation’ elements, 3 'portType' elements, 1 'binding’ element, 1 'service' element

D- 6 'message’ elements, 3 'operation’ elements, 3 'portType' elements, 3 'binding’ elements, 1 'service' element

Answer:

A

Question 4

Question Type: MultipleChoice

You have created the following WSDL definition to describe a PO service that accepts purchase orders submitted by customers:



<definitions name="POService"”

targetNamespace="http: /Sww, example. org/wasdl/ po®
samlns="http://schemas.xmlsoap. crgfwadl/"
xmlns: po="http: //www. example. org/po”
amln=: xad="http: //www.w3.o0rg/2001/ ML 3chema ">
<types>

<xad: schema targetNamespace="http://vww.example.org">

<xsd:import namespace="http:// www.example.org/po"
schemalLocation="purchaseOrder.xsd"/>

</%xad: schema>
</types>
“message hame="zubmitPOMeszage”>

<part name="FP0" element="po:purchasedrdecr”™/>
</messages
<portType name="submitPOInterface”>

<operation name="submitPo">
<input messaga="submitPDHessagE"f}
<aneratiunb
{fpnrtTypu}

</definitions>

However, when you try to use this WSDL definition, your system returns an error message stating that it is invalid due to a problem with
namespaces. Which of the following revised WSDL definitions correct the problem?



© A <definitions name="PoService"”
targetNamespace="http: //wnor, example, org/wadl/po®
smalns="http: //achemas, mlsoap. org/wadl/ "
xmlns: tns="http://www. example. org/po™
xmlns: po="http://www. example. org/po"
yxmlns: xsd="http: //www.w3.org/2001/ZMLEchema ">
<typea>
<x=d:achema targetNamespace="hetp:// wnw, exanple, org™>
<xsd:import namespace="http://wme. example. org/po”
achemalLocation="purchaselrder.xsd"/ />
</ wad: schemas
</ types=
“meszage name="zubmitPOMessage >
Zpart namse="PO" element="po:purchaseOrder™/>
</meaaage>
<portType name="submitPoOInterface >
<operation name="submitPOo">
<inpiat message="tna: submitPOMessage™/>
</opesration>
</portType>

</definitions=

T B. <definitions name="FPOService"”
targetNamespace="http:/ /v, exanple. org/wadl/pa”™
xmlns="http://achemas, anlsoap. org/wadl/ "
xulns: tns="http: //wwe, example, org/wadl/po”
wmlng: po="http://www. example. org/po”
molns: xsd="http: /fwww . w3 . 0eg /2001 XML Schema ">
<types>

<x=d: gchema targetNamespace="http:// www. example. org™=
<x=d:import namespace="http://www, example. org/po”
gachemaLocation="purchasedrder. xad"/ >
</xsd: schema>
{ftypus}
“message name="submitPOMesasage ™=
<part name="PO" element="po:purchaseCrder™/>
</meszage>
<portType name="submitPOInterface™>
<gperation name="submitPO">
<input message="tns: submitPCMessage"/>
</operation>
</porclype>
</definitions>

T C. <definitions name="POService”
targetNamespace="http: //wwn. exanple. arg/wadl/pa™
smlns="http: //schemas. xmlsoap. org/wadl/"

Mulns: tns="http: //schemas. onlsoap. org/wadl/ ™



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

B

Question 5

Question Type: MultipleChoice

A natural disaster has damaged the server that contained your service contracts. Many files on the server have been lost, but you have
been able to partially recover some files using special disk recovery tools. One of the WSDL definitions for a Postal service is mostly
intact, except for the portType element, which has only been partially recovered.

The recovered WSDL definition looks as follows:



<definitions name="Postal™
targetNamespace="http://wwne. example. org/wadl/postal™
smln=: tns="http: / www. sxxample. org/wadl/postal”
sxmlns: post="http: //www. exanple. ocrg/postal”
ymmlns="http://achemnas. xmlsoap.org/wadl/"
mmlns: xsd="htep: / fwew,. w3, org/2001/EML3chema "™
xmlns: soap="hetp://schemas.xmlsoap.org/wsdl/soap/ ">
<types>
<xad: schema targetNamespace="http:/ www. example. org/wadl/postal ">
“<xad: import namespace="http:/ /wnr, example. org/poatal”
schemalocation="postal . xad"/ >
</xad: schema>
</types»
<message naeme="PostelLookupMessage">
<part name="regquest" alement="puzt:pustuanakup"H}
{fmssaagu}
<message name="PostallookupResponseMessage >
<part name="response” slement="post:postalLoockupResponss"/>
</message>
<portType 722>
ik
</portType>
<hinding name="PostallookupBinding™ type="tns:PostallookupInterface™s
<gzoap:binding style="docuwnent"”
transport="http://schemasz.xml=zcap. org/soap/http"/>
<pperation neme="PostalLoockup™>
<spap:operation scaphction="http://www.example.org/PostalLookup"/ >
<input>
<sogap:hbody use="literal"™/>
</input>
<output>
<ggaprbody use="literal®/>
</ output>
</operation>
</binding>
</definitions=>

The "???" symbols indicate where data is missing. Your task is to reconstruct the "portType" element based on clues found in the rest of
the WSDL document. Which of the following is correct?



A <portType name="FostalLoockupInterface™>
<operation name="PostalLookupOperation">
<input message="tns:PostalLookupMessage™/ >
<putput message="tns:PostalLoockupResponseMessage"/ >
</operation®
</portType>

T B. <portType name="PostalLockupFortType">
<operation name="Postallookup">
“<input message="tns:FostallookupMessage™/ >
<output message="tns:PostalLookupResponseMessage"/>
</operation>
“</portType>

[ o “portType name="PostallookupInterface”=
<poperation name="Postallookup”>
Zinput message="tns:FostallookupMezsage™ >
“<putput message="tns:PostallookupPesponseMessage” />
</ operation>
{,"pn rtType=

D, None of the above

Options:

A- Option A
B- Option B
C- Option C
D- Option D



Answer:

Question 6

Question Type: MultipleChoice

You are a consultant helping a large bank implement an on-line banking service for its customers. The first operation you need to build is
one that allows a customer to initiate a transfer of funds. You are presented with the following sample XML document that represents the
funds transfer information that this operation needs to be able to receive:

12345

44432

2000

You are also provided with the following sample that shows that the response message sent by the service needs to return a single
element with text content:

SUCCESS

Which of the following XML schemas will validate the two samples shown above?






T A <xsd:schema sxmlns:xsd="http://wnw. w3, org/2001/ XML Schema ">
<x3d:! element name="transter">
<wad:complexTypes
“<wsd: Sequence
<xzd:element name="fromiccount” type="xsd:integer®™/>
<xzd: element name="tohccount” type="xad:integer"/>
<x=zd: element name="amount" tYPe="xsd:dEcimal"Ib
{fxsd:saquence}
<f%x=d: complexType>
</xad: el ement>
<x5d: element name="transferdtatus”>
“xad:complexTypes
<xsd: sequence>
<xsd: element name="status" type="xad:string"/>
</ x=d: sequence>
“fwad: complexType>
<fwad: element>
“<fxsd: schema=

B <xsd: schema sanlns:xsd="http:/ v wd. ocg/ 2001/ EMLSchema ">
<xsd: element name="transfer” type="transferType"/>
“xsd: element name="fromiccount” type="wx=ad:integer"/>
<x=d:element name="tohccount" type="x=d:integer"/>
<x=sd: element name="amount" type="xsd:decimal"/>
<xsd: element nams="transferd3tatus" type="xad:string"/>
«/xsd: schema>

& C, <xad:schema zmlns:xad="http://www.wl, org/2001/EMLEchema ">
<xad: element name="transfer">
<xad:complexType>
<xad: sequence>
<xsd: element name="frombiecount” type="xsd:integer"/>
<xsd: element name="tolccount” type="usd:integer"/>
<usd: element name="amount” type="xad:decimal "S>
</ w=ad: sequencex
“fwad: complexTypes
</xesd: element>
<xsd: element name="transferStatus® type="xad:string®/=
</x=d: sechema>-

“ D, Mone of the above,



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

C

Question 7

Question Type: MultipleChoice

Your developer is asked to build a Timesheet service that is able to receive timesheet submissions for an internal payroll system.
Service consumers need to be able to send this service request message based on a root "employeeHours" element within the SOAP
message body. The "employeeHourse" element will contain "ernpID" and "hours" child elements. Furthermore, the service needs to
return a message based on a "response” element that contains "emplD" and "status" child elements. Your developer comes to you with
the following WSDL definition:






<definitions name="Timeshest"
targetNamespace="http://www, example. org/wadl/timesheat"
xmlns: tns="http: /Suwwne. example. org/wadl /timesheat"
xmlns: timesheet="http: //wee. example. org/ timesheet”
smln=="http: //schemas. ol soap. oryg/ wadl /"
smlns: xad="http: /Swet. w3 . org /2001 XMLIzhema "
xmlns: soap="http://schemas. xmlscap. org/wsdl/soap/ ">
<types>
<xsd: schema
anlns: xsd="http: /v, wd, oeg/ 2000/ EMLEchema ™
targetNamespace="http://enne, example. org/timesheest ™
<xsd;element neme="employeeHours">
“x3d:complexType>
<xsd: segquence:>
<xad: el ement name="empID"
type="x=d: integer™/>
<xad:element name="hours"™
type="xsd:decimal "/>
</xad: sequence>
=/xad: complexType>
</xad:element>
<xad: element name="responszs">
“<xad:complexType>
<x=sd: segquence>
<x=d: element name="empID"
type="xad:integer®/ >
<xad: sl sment name="status"
type="xad:string"/>
<fxad: sequence>
</xsd: complexType>
</xad:elemnent>
</xsd;: schema>
{ftypes}
<message name="TimeshestMessage'>
<part name="Timeshset"
element="timeshest: employeeHours"/>
</message>
<message name="TimesheetResponse">
<pert name="Response”
element="timesheet: response’/>
</message>
“portType name="TimeshestInterfaces
<pperation name="SubmitTimeshest">
<input message="tns:TimesheetMessage"/>
“putput message="tns:TimesheetResponsa™/ >
</operation>
</portType>
<binding name="TimesheetBinding"
type="tna:TimesheetInterface™™
Laman: binding styv]la="pEma



The only revision you suggest is that the value of the "style" attribute of the "soap: binding" element be changed to "document" instead of
"rpc”. Why?

Options:

A- With a value of 'rpc’, the root element within the SOAP message body will have the name of the operation, and therefore cannot be
named 'employeeHours' as indicated by the requirements.

B- With a value of 'rpc’, the root element within the SOAP message body is unable to be part of an operation that contains both ‘input’
and 'output' elements.

C- The value of 'rpc’ is not a valid value for the 'style" attribute.

D- None of the above.

Answer:

A

Question 8

Question Type: MultipleChoice




Your company has developed a PO service that allows customers to submit purchase order documents. The message sent by a
customer must be based on a predefined "purchaseOrder" element and the message received by the customer is based on a
"messageAcknowledgement” element. These two elements are defined in the following two separate XML Schema definitions:

The "purchaseOrder.xsd" schema:

<x=d: schema xmlns:xsd="http://www.w3.org/2001/IMLSchema™
targetNamespace="http:/ www,. example. org/po™>
<xad: element name="purchaseOrder'>
<xsd:complexType>
<xad: sequence>
<xsd:element name="number™ type=Txad:string"/>
<xsd:element name="date" type="usd:date"/>
<xsd:element name="amount” type="xsd:decimal"/>
<xad:element name="description” type="x=sd:string”/=F
</ xad: segquences
</xad:complexType>
</xsd: element>
</x=d: schema>

The "ackxsd" schema;

<x=d: schema »mlns:xsd="http://www.w3.org/2001/ZML3chena"
targetNamespace="http: / /v, example. org/ack ™
<xad: element name="messageAcknowledgement”>
<xs5d:complexType>
<xad: seguence>
<xzd:element name="number” type="xsd:string”/ /=
<xzd:element name="dateReceived"” typs="xad:date" />
<x=zd:element name="status" type="xsd:string"/=>
</ xad: segquence>
</xad:complexType>
</xad: elemeant>
</ xad: schema>

Note that these two schemas have different namespaces. That is because the "purchaseOrder.xsd" schema is specific to purchase
order-related functions, while the "ack.xsd" schema is more generic and used for a variety of different purposes.






T A <definitions name="FOZervice”
targetNamespase="http: //www. exanple. org/wasdl/pa"”
Hulns="hetp: [/ schemas. sl soap. org/wadl/ "

Amlns: po="http: / /v, example. org/po®
mnlns: ack="http:/ /v, example. org/ack”
ulng: xsd="http: /S, w3, org/ 2001/ EMLSchema ">
<types>
“<x=d: schema targetNamespace="http:/ /wnnw. example. org™=
<x=d:import namespace="http://www. example. org/po”
schemaLocation="purchasedrder.xad"/>
{xsd:impnrt namaapuce="http:ffwww.uxnmple.urgﬁuck"
aschemaLocation="ack.xsd"/>
</xad: schema>
</types>
<message name="submitPOMessage">
“<part name="PO" element="po:purchaseCrder”/>
</ message>
“<message name="PoAcknowledgement ™
“<part name="PO" element="ack:messageAcknowledgement"/>
</message>

<fdefinitions>

T B <definitions name="POService"
targetNamespace="http:/ /. example. crg/wadl/po”
mnlns="http: //schemas. amlsoap. org/wadl/ "
wnlns: po="http://www. example. org/po”
xmlns: ack="http://www. example. org/ack"”
wolns: xad="http: /v, wd ., org/2001/ EML3chena ">
<types>

<xs=d:schema targetNamespace="http:/ /wnow. example. org ™=
<x=d:import namespace="http: /S wwee. example. org/pa”
schemaLosation="purchaseOrder. x=d"/>
<xsd:import namespace="http://www. example. org/po”
schemalLocation="ach.xad"/>
</wad: sachema>
</ types=
<message name="submitPCMessage™>
<part name="FO" eslement="po:purchaseCrder"/>
{Hmuaauge}
<message name="POAcknowledgement™>
<part name="PO" element="ack:messageicknowledgement”/>
</message>

<fdefinitionss
T T <definition=s name="PO8ervice”

targetNamespace="http: /v, exanple. org/wadl/pa”
smmlna="http://achemas. xmlsoap. org/wadl/"



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

A

Question 9

Question Type: MultipleChoice

A partner organization has given you samples of XML documents retrieved from their product information database. The three samples
they have sent you are:



<producst>
<number=123D0D0</number>
<name>3-Compartment Travel Kit</name>
Sguantity*2</gquantity>

</product>

<product>
<number>445A8</number>
<guantity=l</guantity>
<name®13 ineh. Rolling Suitcase</name>
</produst>

<product>
<number>34 3AC< mumber >
<gquantitysl</quantity>
Zname>Deluxe Travel Pillow</name>
{fprnduct}

Because they are an important partner, you have agreed to write a service to accept XML documents in their format. However, they did
not send you a schema, so you are tasked with defining a schema that will correctly validate their documents. Which of the following
XML schemas will successfully validate each of the above XML document fragments?



oA

D

<x=d: schema smlns:xsd="http://www. w3, ocg/2001/IML3cheamna ">
<xsd:element name="product”>
<xsmd:complexTypes
<xsd: sequence>
<xsd:element name="number"” type="xsad:string"/=
<xsd:element name="name" type="wmsd:string"/=
<xsd:element name="gquantity®” type="xad:integer"/>
=/ w=ad: sequence®
<fwsd:complexTypes
</xad:element>
</ xad: schema>

<xsd: schema xmlns:xsd="http:/ vwww, w3, oryg/Z001/ XML3chema ">
<xsd: element name="produst’=
<usd: complexTypes
<x=d:all>
<xad: element name="gquantity" type="xsd:integer"/>
<x=ad: element name="number" type="x=sd:string"/>
<x=d: element name="name" type="x=d:string"/>
</xad;all>
<fxed: complexType>
</w=d: element>
</xsd: schema>

<x=d:schema smlns:xsd="http:/  wwe.wl.org/Z001/ZMLE3chema ">
<xad: element name="product'">
<xsd:complexType>
<xad: sequences
<xsd:element name="number” type="wad:string"/>
<x=sd: element name="name"” type="xsd:string"/>
<usd: element name="guantity” type="xad:integer”/>
<x=sd: element name="nams" type="x=d:string"/>
</x=d: sequence>
<fwsd: complexTypes
</xad: element>
<fxad: schema>

MNaone of the above,



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

B

Question 10

Question Type: MultipleChoice

Your company has developed a service that allows your customers to check the status of an order. The schema for the service is shown
here:



<x=d: schema xmlns:xsd="http:/ wwe, w3, org/ 2001/ XMLEchema ™=
<x3d: element name="0OrderStatusLoockup”™=
<xad:complexType>
<xsd: sequence>
<x=d:element name="customerID" typa="xsd:string"f}
<xad:element name="
</xad:sequence>
<fxsd: complexType>
</xsd:element>
<xsd: element name="COrder3tatushesponse”™>
<xsd:complexType>
<xsd: sequences
<x=d:element name="orderID" type="x=d:string”/>

“<xad:element name="status" type="x=d:=string"/>
— FF

<xad: element name="comments" type="x=sd:string"/>
<fxad: sequence>

ordecID" typa="xzd:string"f%

</ xad: complexType>
</xad: element>
</ xmd: schama>

A new customer plans to use your service, but they want to test it first. They have asked for two sample XML documents that show
typical input and output message content. Which of the following pairs of XML elements will validate with the schema shown above?



© A <0Order3tatusLookup>
<customerID>12345</customerID>
<orderID>44Fl1Z</orderID>
</Order3tatusLookup>

<0rder3tatushesponse>
<orderID>44F12</orderID>
<status>PENDING</status>
<comments>Waiting for back order to be filled</comments>
<comment=>Will advisze when in stock.</comments>
</Order8tatusiesponse>

© B, <Order8tatusLookup>
<customerID>12345</customecID>
<orderID>44F12</orderID>
</OrderStatusLookup>

<OrderStatusResponse>

<orderID>44F12</orderID>

<comments>Waiting for back crder to be filled</comments>
</Order3tatusResponse>

© C. <Order3tatusLoockup>
<orderID>44F1Z2</orderID>
<customerID>12345</customecID>
</Order3tatusLookup>

<0OrderStatushesponse>

<orderID>44F1Z</orderID>

<status>PENDING</status>

<comments>Waiting for back order to be filled</comments>
</Order8tatushesponse>

© D, MNone of the above.



Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

D
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